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7 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 477 59.50 | =nLS | 000 ~ 000\ 1.73 877 st 1.00 | 6.00 ~ 5.00 59.50 | =hLs | .00 ~ 5.00| 1.73 877
2 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 742 94.68 | =nLS | 000 ~ 742 1.82 919 st 1.00 | .00 ~ 9.70 94.68 | =hLS | .00 ~ 9.70| 1.82 919
3 100kN/m%E#BZ5 | 1.00 | 000 ~ 017 102.55 |3mEBZD| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 1054 ~ 11.00| 102.55 |3mEBZ5 - ~ — — —
s 1.00 | 017 ~ 796 100.00 | =0t | 0.00 ~ 7.96 | 2.22 11.20 st 1.00 | 6.00 ~ 1054 100.00 | =nst | 6,00 ~ 11.00| 2.22 11.20
4 100kN/m%E#BZ5 | 1.00 | 000 ~ 017 102.55 |3mEBZD| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 1054 ~ 11.00| 102.55 |3mEBZ5 - ~ — — —
s 1.00 | 017 ~ 796 100.00 | =0t | 0.00 ~ 7.96| 2.22 11.20 st 1.00 | 6.00 ~ 1054 100.00 | =nst | 6,00 ~ 11.00| 2.22 11.20
5 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 000 ~ 621 78.02 | FnLSY | 000 ~ 0.00| 1.67 846 st 1.00 | .00 ~ 7.30 78.02 | TS | 5.00 ~ 7.30| 1.67 8.46
P 100kN/mM%EBZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 000 ~ 477 59.41 | =nLS | 000 ~ 0.00| 1.69 8.56 st 1.00 | 6.00 ~ 5.00 59.41 | =hLs | .00 ~ 5.00| 1.69 8.66
100kN/mM%E{BZ 5 ~ ImEHBZRD ~ 100kN/m%#8% % ~ IMEBZD ~
ZhLst ~ ZhLst ~ Zhst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhnLst ~ ZhnLst ~ ZhLst ~ zhnLst ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ Zhst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ Zhst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%E{BZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ zhst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ Zhst ~ st ~




